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dxy * A F 5 o] FER A < T o R
g o9 A QeREfeeT TR g T s A | 904w hed
1969 12 5 7 176 162 1 126 43 83
1970 12 5 7 20 200 i 140 39 101
1971 15 8 7 107 104 12 125 35 90
197 2 15 8 7 107 92 12 139 42 97
3 & 1 1 9 7 1 53 19 34
Ab Ak 1 1 8 8 9 3 6
3} A} 1 1 9 7 1 9 2 7
& " i 1 7 7 1 7 2 5
£ A 2 2 10 7 1 14 3 11
= > 2 2 9 6 1 14 5 9
& £ ] 1 7 7 1 4 1 3
A 2 1 B 7 6 i 3 1 2
n} A} 1 ] 6 8 R 3 1 2
3 A i 1 9 7. 1 2 1 1
Ak o] 1 1 6 9 ] 3 ] 2
g ] i 1 10 6 ] 1 2 9
5 « ] 1 10 7 ] 7 1 3
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S o H 1 W oo A T ] LU A & i W o=
1969 800, 764 658,284 769,817 632,940 30,947 25, 344
19 70 (1,949,354 2,703,652 1,861,279 2,621,461 88,075 82,191
197 1 [2,347,80 3,384,191 2,246,254 3,294, 107 101,566 90, 084
197 2 [2,24,96 3,271,135 2,154,861 3,155,095 110,055 116,040
&) & | 934,910 693,280 893,848 648, 08 41,08 44,772
4t A 33,752 212, 146 30,951 207, 696 2,801 4,450
3} AL | 146,824 165,076 138,977 159, 256 7,847 5,820
& A 61,248 119,110 56,674 114,704 4,574 4,406
& 2| 2w,070 458,396 199,936 450, 226 7,134 8, 170
= 3| 282,454 284,387 270,170 273,769 12,284 10,618
% A 67,536 188, 479 1, 466 181, 822 6,080 64657
Al £ 53,030 166,063 49,046 161,689 3,984 4,374
o} At 42,149 170, 587 38,988 165,219 3, 161 5,368
i AF 87,130 99,297 79,852 93,108 7,278 6,189
4k o] 60, 588 160, 455 56,778 155, 639 3,810 4,766
& W 156,691 338,340 151,292 332,532 5,399 5,800
3t A 131, 534 245,515 126, 893 240,873 4,641 4,642
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118. 2 SEHE FH=Z &8
s 9 i , AL : 3l i 4l
=
e ay | 2F =3 A& = i F s 7l £ X
19689 321 7 351 134
1970 2,275 41 42 3,366 88 172
1911 2,143 164 133 3,716 618 477
19 7@ 2,503 103 78 2,121 194 12 4
34 459 49 30 234 59 23
A 4 249 o - 124 18 4
ko1 Ak 265 1 1 248 10 13
B3l AL 97 51 - 83 - 4
& =] 163 2 - 116 19 4o
i > 300 - 19 219 9 11
* 4 408 12 1 488 7 5
Al = 19 2 - 156 13 9
L AL 39 - 2 52 17 3
3} Ak 45 17 15 7 2 11
Al o] 170 o - 150 - -
5 ) 89 - 8 99 16 18
&5 4 100 - 2 145 24 13
A 1G4S F
q4 = 3 il o 3 L &
£W e T2 aW £ 12w o4 &%
L9 40 13,711 713 2,371 208 11,340 505
1970 17, 827 868 2,988 337 14,829 - 531
197 48,599 2,419 7,246 555 41,353 1,864
1972 | 58,55 2,656 8,383 600 50,176 2, 056
-8 | 15,604 1,002 963 118 14, 641 889
o 4 773 58 128 14 645 4
3} 4 1 o 3.xer 156 593 58 2,964 98
- A} ,968 6 180 21 788 45
& =] 5,100 343 1,736 174 3,364 169
5 3 11,981 25 3,166 85 8,785 180
5 2 2,526 108 243 26 2,283 7}
Al = 2,207 » 186 2 2,021 90
Ll 4k 1,448 48 140 5 1,308 8
. 3 4k 3,508 161 520 52 2,988 109
Ak o] 1,330 84 125 10 1, 05 74
g W | 8,137 169 348 '35 7,789 134
3} ™ 1,450 104 55 o 1,395 %
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¢ 9 Wy IR |ATE|FEE TSy ; munai%ﬁwg-sliw%é}i
1 949 4 579 286 95 9,334 9,334
i970 5 652 294 91 10,298 55 10,298
192 71 9 853 291 9:6 11,519 5 11,519
{272 1 1,054 796 258 4 22,908 §, 274 21,634
& =2 1 387 291 96 13,767 13,767
A A} - - - 116 16
3} A} 1 120 83 37 1,463 361 1,102
& A}k ] 32 31 1 608 125 483
s A 1 100 80 20 1,087 - 1,087
2 3 1 78 52 26 1,716 1,716
< A 1 17 17 530 530
Al = 1 66 59 7 380 68 312
B 4 - - - 13 13
3} 4k 1 76 67 9 3 837 476 361
4} o] 1 35 1 34 527 527
* ul 1 79 65 14 1,126 226 900
5 A 1 64 50 14 1 638 18 620
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q = U S+ q A o 2l =) 2 W

g A add]Ae] 29 (94 | A+H | 3 o
1949 52, 397 52,997 A 600 14, 654 22,230 A28
1970 271,317 270,337 980 31,571 35, 464 A 3,893
18721 316, 567 295,860 4\ 20,707 30, 920 42,209 11,289
197 3 411,752 406, 135 5,617 46,266 MmO o am
&) ] 101, 497 98, 788 1,012 33, 126 18,496 14,630
A <k 5,942 5,924 18 525 121 4 i
5} 4k 28,793 2,07 /A 284 1,786 o8 O 0w
| A 22,024 20,714 1,310 280 1,860 4 1,580
< A 84,275 85,589 588 2,279 fok O 4k
X % 28,179 27,719 460 3,765 3,611 154
- a4 22,903 23,979 A 1,076 753 s 4y & LA
Al % 15,024 15,2488 4O @ 294 278 2,38 & 2,1
sp 4 20,521 20, 352 169 189 1,733 8 1,54
3}t Ab 36, 983 36, 557 426 679 2368 A LA
4 e 22,720 21,822 898 766 2.0 4 1,50
o W 14,176 12,361 1,815 1,506 2.9 A L%
5 3 8,715 8,005 710 316 L6 4O 1.9
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